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Question Id : 92090622167 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time :

Question Numbers : (1 to 5)
Question Label : Comprehension

A R e TH-gE & HHF o € aur Rien [ safda, ue ofR I & W] &
HIY-F1Y FAl R AEHid & G & o +ff orawad g1 ol aead ulaw § Sex-ie | e
& &3 O wifd o T 8, o QR ab-ie @I gel &R 4! e gumd! &1 ISR e § ol
S-AFT & AW SET G 81 S @8R BTy H dell 9 Ugd I8 SIeHH R i gevAe
Barefl S &1 3fred] § gedd &1 UHA o9 $X 2 81 TS P gHR Sl | YER 8
@1 § 3R 3¢ 3 §H9 & 70 YSR Eid &1 Rien #1 qurawt ¥ gur A [iEE € aee &1
TS1 ANTEH g1 ST Ay B1 olia ! R HMaaHarsi ok SHIal &I S@d §U 311 e
& doHie 9 Siel SRedl 81 1 81 Ud §HY ¥ Ua 3d ad Jdodl 3R cdlfded ol §9R
TreaH ARG & 91y Rien & 83 1 off st i P 38 81 e R g A qu
3 F 3P A FHH H1 THRY 91 SdT g1 IS H1aH 9 Aiied, sfaer, &g enfe
q Haita Srded faentdal & forw waiid 63 91d €1 $9d Yo "1 & giawl 81 & d1a6g
&gl FRaRT & U avem &1 31 o, forgds gR1 §H-SrReddl & fou &Y, W, uRar
Ferdror, ararara Y Sl &1 waRl fdan odr 81 qReH & Aregy 9§ Qe & & g
v foed 1|

YRd H 1959 F 3RY gs calfder Jarsfi gR1 ay 1961 ¥ fewell & Ruan Fexmeag & wgam 4
el & ferw sFe fawal 3 efta reus i & e SrdHH] o1 YR IE 691 71 iR
a9 39 352 &1 gid & oW 250 9 offe A dl. O el & Wal § @l T 3H & oF
IR0 H |9 1973 H IuUe HuRd e efifas garu iRy fad 1)

Sub questions

Question Number : 1 Question Id : 92090622168 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Juar eI o1 3 e fafae

(1) daad gure § fan (2) Ruen &t =3 fgmm

(3) T &1 YERY 3R A (4) 13 e Aifa %1 gsaiom
Options :

92090687601. 1
92090687602. 2
92090687603. 3
92090687604. 4



Question Number : 2 Question Id : 92090622169 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el BY g

A. TS 9 A & YA FF & 78 YUSK Eid &)

B. Xf&dl iR Teiifae A §HS &1 RIS FR el 2

C. 3T A 3 GHTS B WER B &1 B Al Bl g
D. WK 3 AqI WICHH 1 farel &1 F1ftrd s 8|

£ Rren 9 ot oft wora &t W SR depfa O sgad siar gl

1 feu U fasadi & 9§ Ug! 3T &1 9494 Hifert

() ABC
(2) AE
(3) ABD
(4) B,D E
Options :

92090687605. 1
92090687606. 2
92090687607. 3
92090687608. 4

Question Number : 3 Question Id : 92090622170 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time :

Correct Marks : 4 Wrong Marks : 1



Tagisyafiumue:

HYF | : AW R A 3R aU1 371 F 3% Ui HdshH] o1 YR a1 Sl g |
IuF "I I wiew, g, fagm onfe 9§ weifta sdew famniddl & fou
Wi 62 STd g

YA || ; IST vH Yg AeH g DI I O FRerl & e aveH &4 &2 3 g, s
BRI S-SRl & o1l SN, Wey, URaR, s, aamd T Seaiar
&1 TR B | g1

SURIFd Y9 & 3fdid |, A fau 70 fawel 7 9 Ugl SR &1 9594 Hifoe:

(1) FYIAR IS TAE
) HYFI AR IEH AT
(3) HYTI A, Al HY 1 3T B
(4)  PYF| U B, AHT HYT 11 TA

Options :

92090687609. 1
92090687610. 2
92090687611. 3
92090687612. 4

Question Number : 4 Question Id : 92090622171 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



el HyA AT

A

B.

c;

D.

E

WHR e & fow a0 & gds Afdd &) WehHE el $3 6! ¢
A # $e¥e & uai 9 0 dig PRI 71 8 8

B & a1 wrel # fRuef &1 fdera a8 8|

fRren @1 1ol & GuR # Aidd 81 do-ie &1 981 IeH B

AYFF T B oige Iell 3R avgHdel SR Indlel &1 S@a BU TS fRem &
aE-1P ¥ SIal oRell 81 T 8l

412 feu o ol o 9 9l ST &1 99 Fife

(1) @&ddC, D, E

(2) &ddC B

(3) &HddC AE

(4) HIAD,E
Options :

92090687613. 1
92090687614. 2
92090687615. 3
92090687616. 4

Question Number : 5 Question Id : 92090622172 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Il | & |1y = 11 P e St

T BEIS]
A) AT PIUETm S UAgE () YA
g e
(B) MR H Celifde & LA HE G () 1959
(C) 3l uw fafire Arem & () TH-ID I Hed eidl &
0y fa oy efafaey ur faceh & fian (V) 1961
ey & gai ¥ el & o
i HIAHH BT THRUI IR g3

419 fau U fawedl § | Ul IR &1 994 Bife:

(1)
2)

(A)-(11), (B)-(1), (C)-(), (D)-(IV)
(A)-(1V), (B)-(11), (C)-(1), (D)-(11)
(A)-(111), (B)-(11), (O)-(1), (D)-(1V)

(
(3)
(4) (A)-(I1, (B)-(11), (C)-(IV), (D)-(1)
Options :

92090687617. 1

92090687618. 2

92090687619. 3
92090687620. 4

Question Id : 92090622167 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



A AR e UH-gur & MfuA 3 § ayl e e sofda, I ik e @1 wifa &
Y-y JAl R AEHid & G & o +ff orawaed g1 ol agad ulaw § Sex-ie | e
& &3 O wifd o i §, o il aeite @1 ge1 &1 At e ol &1 ISR fean g ol
S-AFHT & A1 Y SET S 81 S TTHI 81 81Y H aSll § Ugd I8 WICHH SR TR $ede
Tarefl 7S &1 efedl § IEdg &1 U o9 & 2 81 IS T gHR Sl | YAR 8
gP1 § 3R $eTe 7 I & T HSR Widt &1 Ren 31 o F gur & Ry & awdie &
FST TG g1 ST THY B1 olia- ] SR HaaHarsi sk SHIG! &I S@d gU 311 &
& doHie 9 Siel oRedl 81 71 81 Ud §HY ¥ Ua 3F aP el 3R lfded S §9R
W FAREA & 91y 2180 & &7 7 o oo iyt v R 81 80 R e S R A aw
39 & o1 Ut PrdepHl &1 TUR {1 Sl 81 IS Hienw ¥ Wiiga, sfogry, faw enfa
§ Hdfta sden faentddl & forg waiid f6d 9 €1 $ad Yo mred & glawn 81 & draslg
e et & iU aea@ a9 &2 g, fois g §H-SiEodl & fau &Y, W, aiar
e, ararara el el 1 TER fEar 9 81 giesH & Aed 9 e & aF g
v 6 1|

YR H 1959 § S g3 cdlifaar Jarsil g1 ay 1961 H el & Ruan FAwmeg & ggam d
el & foe oM fawdl O Yefta ureasHi & Aidie SrdbH| &1 IRU = g /7y §iR
a9 39 35 &1 gfd & forw 250 9 ot A dl. e el & Wpal § @ 11 34l & oFTd
TR01 H H9 1973 H IUUL ARG e Tehfas guRu SRy f&d 1)

Sub questions

Question Number : 1 Question Id : 92090622168 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Iuyed ey @1 3fa Wi fafaw?

(1) wedd uare § e (2) e &t =8 femm

(3) S &1 guRY SR WHE (4) 15 e ifd &1 gsafiom
Options :

92090687601. 1
92090687602. 2
92090687603. 3
92090687604. 4

Question Number : 2 Question Id : 92090622169 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



el HYA g

A. TS 9 AT & U F19 & 94 HUSR @Id {1

B. &4l 3R Telifde A HHIG &I THRIE R Qa1

C. T A 3fes GHTS Pl HIaR HI BT B Ceilfds Sl g
D. WK e dI WICHIH 1 farehl &1 Fiftd s 8|

£ Rren 3 ot oft wora &t W SR d%pfa § sgad siar gl

At feu U fasadi & 9§ Ugl I &1 9494 Hifer :

(1) ABC
(2) AE
(3) ABD
(4) B.D.E
Options :

92090687605. 1
92090687606. 2
92090687607. 3
92090687608. 4

Question Number : 3 Question Id : 92090622170 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tagisyafiumue:

HYF | : AW R A 3R aU1 371 F 3% Ui HdshH] o1 YR a1 Sl g |
IuF "I I wiew, g, fagm onfe 9§ weifta sdew famniddl & fou
Wi 62 STd g

YA || ; IST vH Yg AeH g DI I O FRerl & e aveH &4 &2 3 g, s
BRI S-SRl & o1l SN, Wey, URaR, s, aamd T Seaiar
&1 TR B | g1

SURIFd Y9 & 3fdid |, A fau 70 fawel 7 9 Ugl SR &1 9594 Hifoe:

(1) FYIAR IS TAE
) HYFI AR IEH AT
(3) HYTI A, Al HY 1 3T B
(4)  PYF| U B, AHT HYT 11 TA

Options :

92090687609. 1
92090687610. 2
92090687611. 3
92090687612. 4

Question Number : 4 Question Id : 92090622171 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



el HyA AT

A

B.

c;

D.

E

WHR e & fow a0 & gds Afdd &) WehHE el $3 6! ¢
A # $e¥e & uai 9 0 dig PRI 71 8 8

B & a1 wrel # fRuef &1 fdera a8 8|

fRren @1 1ol & GuR # Aidd 81 do-ie &1 981 IeH B

AYFF T B oige Iell 3R avgHdel SR Indlel &1 S@a BU TS fRem &
aE-1P ¥ SIal oRell 81 T 8l

412 feu o ol o 9 9l ST &1 99 Fife

(1) @&ddC, D, E

(2) &ddC B

(3) &HddC AE

(4) HIAD,E
Options :

92090687613. 1
92090687614. 2
92090687615. 3
92090687616. 4

Question Number : 5 Question Id : 92090622172 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Il | & |1y Y= 11 P e St

- LG
A) THFAREIS AN RUTEd () YA
U
(B) HRd H Celifdel & Y= DG G (1) 1959
() fsaus e mam g () B &1 Hed eidl &
(D) Torw oy eferfae wR el & MRuan (V) 1961
Fenay & gar ¥ faeniial & o
Q& HIAHH BT AR TE §H

At feu I fasedl | 9 98t IR &1 994 I

(1) (A)-(), (B)-(1), (C)-(11), (D)-(1V)
(2)  (A)-(IV), (B)-(I1), (C)-(1), (D)-(I1)
(3) (A, (B)-(IN), (C)-(1), (D)-(IV)
(4) (A=, (B)-(ID), (Q-(V), (D)-(1)

Options :

92090687617. 1
92090687618. 2
92090687619. 3
92090687620. 4

Sub-Section Number : 2
Sub-Section Id : 920906711
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 92090622173 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fFrfefad 7 4 919 9 a9y 98l 82
A THY SR Pl AIS

B. YWY HR &I HIAD B

C. AW 3R Wl SR B Hifers §
D. Tdl R $I Ardfd gl

E. TidI$R & Afeia g

=19 fau e fadedl § 8 |l 3T &1 999 Sifon

(1) &HdaAB3RD

(2) FHadASRE

(3) HAACIHRD

(4) HIaADARE
Options :

92090687621. 1
92090687622. 2
92090687623. 3
92090687624. 4

Question Number : 6 Question Id : 92090622173 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fFrfefad 7 4 919 9 a9y 98l 82
A THY SR Pl AIS

B. YWY HR &I HIAD B

C. AW 3R Wl SR B Hifers §
D. Tdl R $I Ardfd gl

E. TidI$R & Afeia g

=19 fau e fadedl § 8 |l 3T &1 999 Sifon

(1) &HdaAB3RD

(2) FHadASRE

(3) HAACIHRD

(4) HIaADARE
Options :

92090687621. 1
92090687622. 2
92090687623. 3
92090687624. 4

Question Number : 7 Question Id : 92090622174 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fFrfeiEd areaieh &1 98l oH | @
A, ufcgiia & 99 7

B. ST fefdhe @& iR

C. Yl forar ferdTeeT ey Wl arfds
D. @& WY IR PR &I

E. 3rdigd fad a1y 9 &1 9

419 feu v fawedl 1 ¥ gl 39 &1 994 iU

(1) CAEBS3RD
(2) B,D,C ASIRE
(3) A DB C3RE
(4) D,ECBS3RA

Options :

92090687625. 1
92090687626. 2
92090687627. 3
92090687628. 4

Question Number : 7 Question Id : 92090622174 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fFrfead areish &1 9el oA § T
A, ufcaifiar 7 9 e fom

B. B fefde ehm & 3R

C.  Udl ferar frwTeeT sfawy 9ot difch
D. @& WY Ifd PR &1

E. 3fHdidhd o argd Hell o 9

1 feu v fawedl | 8 98l 3O &1 909 Sifee

(1) CAEBSRD
(2) B DCAS3RE
(3) A DB C3RE
4 D,ECBSRA

Options :

92090687625. 1
92090687626. 2
92090687627. 3
92090687628. 4

Question Number : 8 Question Id : 92090622175 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl 1 get o arar & fae w9 wss g $ifom)

(1) e (2) Hgwy
(3)  g&ordt (4) RideR
Options :

92090687629. 1
92090687630. 2
92090687631. 3
92090687632. 4

Question Number : 8 Question Id : 92090622175 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T4l &1 g F arar & fore udl vsg Mg i)

(1) sy (2) wfgw]
(3)  O&urd 4) FfEeR
Options :

92090687629. 1
92090687630. 2
92090687631. 3
92090687632. 4

Question Number : 9 Question Id : 92090622176 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T | & 91y gt 1| F1 TraE Sifee

-1 (3rs) e f@dm)
(A) DU m HY
(B) HUI () Hal
(€ Ha (y °H
(D) i (v) g

412 feu mu f9edi § |/ 9l IR &1 994 S

(1) (A)-(D), (B)-(l1), (C)-(1), (D)-(IV)
(2) (A1), (B)-(), (C)-(IV), (D)-(1)
(3) (A=), (B)-(11), (C)-(1), (D)-(1V)
(4 (A)-(V), (B)-(IN), (C)-(), (D)-(1)

Options :

92090687633. 1
92090687634. 2
92090687635. 3
92090687636. 4

Question Number : 9 Question Id : 92090622176 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gl | & a1y g |1 &1 e St

-1 (3rs) e f@dm)
(A) P¥U m HY
(B) Ul (n ¥R
(C) Ha L
(D) wildd (v g

412 feu mu f9edi § |/ 9l IR &1 994 S

(1) (A)-(1), (B)-(H1), (C)-(1), (D)-(1V)
(2)  (A)-(I), (B)-(lD), (C)-(IV), (D)-(1)
(3) (A=), (B)-(n), (C)-(), (D)-(IV)
(4)  (A)-(V), (B)-(I), (©)-(1), (D)-(1)

Options :

92090687633. 1

92090687634. 2

92090687635. 3
92090687636. 4

Question Number : 10 Question Id : 92090622177 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FArfafad # @ el ugane:
A I UER &R EH
B. Sl g Wit UHaH
C. dd & @I [Hebra
D. U dl il g8l AH Tal

419 feu v faeedl § 9 Hdl 3T F1 999 Sifoe

(1) B3IRD
(2) A3RB
(3) BIRC

(4) A3RC



Options :

92090687637. 1
92090687638. 2
92090687639. 3
92090687640. 4

Question Number : 10 Question Id : 92090622177 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FArfafad # @ el ugane:
A TITGER S M
B. Sl g Wit UHdH
C. o & @Il [Hebra
D. Ud ol HYcl iR =H =931

4 feu v fasredi A 9 wdl I o1 999 Bifore ;

(1) BSMRD
2) AS3RB
(3) BS3RC
4) ASRC
Options :

92090687637 1
92090687638. 2
92090687639. 3
92090687640. 4

Question Number : 11 Question Id : 92090622178 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
IG5 A 3O SifaH 9N (J) Fel IR @17

(1) SR (2) WA

(3) dRIUE (4) HITR

Options :



92090687641. 1
92090687642. 2
92090687643. 3
92090687644. 4

Question Number : 11 Question Id : 92090622178 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ATGH §& A SO Sifad 91 (9 Fel IR @l

(1) SR (2) WA
(3) dRIUE (4) HITR
Options :

92090687641. 1
92090687642. 2
92090687643. 3
92090687644. 4

Question Number : 12 Question Id : 92090622179 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3 9 fordl R Wiy &1 siftRE | S 82

(1) MR &1 Ireeufd (2) I A
(3) MR o1 HEd R (4) BH, HRd & &N
Options :

92090687645. 1
92090687646. 2
92090687647. 3
92090687648. 4

Question Number : 12 Question Id : 92090622179 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g8 ¥ [ YR Siau &1 sifiRe JH1 o1 67

(1)
(3)

YR &1 Iyl (2) oA HA
I 1 7 Rt (4) BH, HRd & &

Options :

92090687645. 1
92090687646. 2
92090687647. 3
92090687648. 4

Question Number : 13 Question Id : 92090622180 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

feralt &1 IsguTa & U § Fgad 89 & Sifard drgamt fFAifea # 9 sH-4t 82

A,

B.

C.

D.

39 Uue & fpdit i weA &1 waw 8l g =nfeu

g8 I =g F1 Farf g1 e ford 98 Fge g s @1
I YR &1 AN g1 T1fgul

dg 35 99 &1 g gul B2 g1 8l

412 fou 1 fasedl # 9 981 ST &1 994 Sifole :

(1) &ddA B3RD

(2) FAAA C3RD

(3) &daB,C3HRD

(4) PATARC
Options :

92090687649. 1
92090687650. 2
92090687651. 3
92090687652. 4

Question Number : 13 Question Id : 92090622180 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ferddl &1 IreguTe & U § g §F & sifard dirgant Aifeag o 9 sF-4 82
A 39 UG & B! Wi g &1 9ew TRl g AIfgT

B. dg 34l Usd & Fardt g1 9iigt forad ag fMge i o w1 8|

C.  IY YR &1 MRS g1 Ffel

D. dg 3534 &l g guf ax P18l

At fau a7t fasedi H 3 98t IR &1 994 HIfoil ;

(1) SHadA B3IRD

(2) FAAA C3HRD

(3) &daB,C3HRD

(4) FAAASRC
Options :

92090687649. 1
92090687650. 2
92090687651. 3
92090687652. 4

Question Number : 14 Question Id : 92090622181 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frfefad § 4 f5y SR § Siiei $1 wd Welldi & i Ay g2

(1) Yg ag 3 [aufed $3& SRieH & Wid @1 d38 P H3dl ¢

(2) UE gdl R ARerad 90l IR 3&dl g
(3) U g @ AN URIeH faRull § FRan ugH Hdl g
(4)  TE Y &1 d9HF §9U @l g |

Options :

92090687653. 1
92090687654. 2
92090687655. 3
92090687656. 4

Question Number : 14 Question Id : 92090622181 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
frfefad § 4 f5y SR § Siiei $1 wd Welldi & i Ay g2

(1) Yg ag 3 [aufed $3& SRieH & Wid @1 d38 P H3dl ¢

(2) UE gdl R ARerad 90l IR 3&dl g
(3) U g @ AN URIeH faRull § FRan ugH Hdl g
(4)  TE Y &1 d9HF §9U @l g |

Options :

92090687653. 1
92090687654. 2
92090687655. 3
92090687656. 4

Question Number : 15 Question Id : 92090622182 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YRd & 68 T § YRd &1 Ugdl IS eld @A) grgaiaq 993 91 g @ g2

(1) TeRE (2) FAleH
(3) HYH (4) HgNEZ
Options :

92090687657. 1
92090687658. 2
92090687659. 3
92090687660. 4

Question Number : 15 Question Id : 92090622182 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR & 59 59 § YR &1 Ugdl U< gid (@) sTseier H43 9 fdar w 82

(1) ToRId (2) WHAleH
(3) SEH (4) HERIS
Options :

92090687657. 1
92090687658. 2



92090687659. 3
92090687660. 4

Question Number : 16 Question Id : 92090622183 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

geA%B I HIEfF A BT U ARHISIEfFA BT US 6 A+BFT3dEfF A B
FmegaFAxeFadgF A sPAIe T Ao d s gecsufarg & m, T3t
T 82

(1) MxN-S%T (2) M=xS—-NS%T
(3) MxN%S+T (4 MxN=xS%T
Options :

92090687661. 1
92090687662. 2
92090687663. 3
92090687664. 4

Question Number : 16 Question Id : 92090622183 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

geA%B I HIEfFABHI U G ARHIIEfFA BT UGS 6 A+BFT3dEfF A B
FImeTafE A xsFIf B A eB A eI A=fRg i A e e cuiae fE m, 191
T 82

(1) MxN-S%T (2) MxS—-N%T
(3) M=xN%S+T (4 MxN=xS%T
Options :

92090687661. 1
92090687662 2
92090687663. 3
92090687664. 4

Question Number : 17 Question Id : 92090622184 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fPrafifaa den geer ¥ qd e & fu ud fasa ghu

7,425, 600, 825, 1100, 1425

(1) 300 (2) 225
(3) 250 (4) 245
Options :

92090687665. 1
92090687666. 2
92090687667. 3
92090687668. 4

Question Number : 17 Question Id : 92090622184 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ffafed ¥ @ & da yg & foe ud fawa g

7,425, 600, 825, 1100, 1425

(1) 300 (2) 225
(3) 250 (4) 245
Options :

92090687665. 1
92090687666. 2
92090687667 3
92090687668. 4

Question Number : 18 Question Id : 92090622185 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘A, ‘B @ 30 faort gd 7 fya 81 B’ < fa=m & 40 faedt &t gt 99 &wan ® Sk R uidm &t
3R 20 foort &1 g 7 X 81 SHS I dg 50 fadt I o= ofiR fihr 50 famdt ud femm
B R gedl gl 3F ‘A’ :

(1) ‘BH20fFHgddg 2) ‘BE10GHITRAR
3 BHofFRaRmAR @) BH20FNIRAR

Options :



92090687669. 1
92090687670. 2
92090687671. 3
92090687672. 4

Question Number : 18 Question Id : 92090622185 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘A, ‘B & 30 Tt gd o fRya 81 ‘B 2 famm & 40 fofl 31 gt 99 & 8 SR R uidm &t
3R 20 4 &1 g8 o FTa1 81 3UH IR g8 50 e I famm ofiv e so ft ud fa=m
B AR TEdI gl A’ :

(1) BI20fFHEAR 2) ‘BA10fPHIRAR
3 ‘BH10fEHRmAR @) BH20FNIRAR
Options :

92090687669. 1
92090687670. 2
92090687671. 3
92090687672. 4

Question Number : 19 Question Id : 92090622186 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U AT%d Fe-HIN1 H DAZE 1 41265 [or@1 911 81 3 & YIS H BOY &1 &9 ferar smerm?

(1) 21526 (2) 21425
(3) 21525 (4) 22525
Options :

92090687673. 1
92090687674. 2
92090687675. 3
92090687676. 4

Question Number : 19 Question Id : 92090622186 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U [Al%d e-ymar I DAZE &1 41265 forar ot &1 341 & U1 d BOY &1 &4 feran smeem?

(1) 21526 (2) 21425
(3) 21525 (4) 22525
Options :

92090687673. 1
92090687674. 2
92090687675. 3
92090687676. 4

Question Number : 20 Question Id : 92090622187 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
afe @Ts i AMuwd SHIR YRS T8l &' iR ‘PS B SEgN YRS o dl § IUaierd &dl & —
A— S BT LUHal el gl
B—PI5 o Mydd Tai ol

(1) Hdd A’ (2) &dd ‘B’
(3) ‘'A'Td B gHl (4) A SRATEB
Options :

92090687677. 1
92090687678. 2
92090687679. 3
92090687680. 4

Question Number : 20 Question Id : 92090622187 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afe &1 1 Wivwal SEGR YRS 781 © 3R TS B SEd YRS ¢ o1 J Iuditd Hal ¢ -
A— S B LUHal el g

B -5 OF YYHdl T8l ¢

(1) Had A’ (2) &dd B’

(3) ‘A'Td ‘B gHI (4) 1A ARATE B



Options :

92090687677. 1
92090687678. 2
92090687679. 3
92090687680. 4

Question Number : 21 Question Id : 92090622188 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afe fedl sa @1 B d 10% @1 gfg a= &1 9wl g Safe S 8 $1s uRadd T8l fea
SId1 € a1 IS9P A | a1 UHIE U

(1) 21% dg WU | (2) 21% Yc S|
(3) 11% dg ST (4) 11% Y WU
Options :

92090687681. 1
92090687682. 2
92090687683. 3
92090687684. 4

Question Number : 21 Question Id : 92090622188 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afe f&dl s @1 B 3 10% 1 i@ & d1 9l g Safe S § $1s uRadd T8l e
SIIdl € a1 IS9P 3ad | a1 Ui U

(1) 21% dg S| (2) 21% Y< U
(3) 11% dg ST (4) 11% Y SE
Options :

92090687681. 1
92090687682. 2
92090687683. 3
92090687684. 4

Question Number : 22 Question Id : 92090622189 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



@5 o [l Ts gU Afqd &1 6 g Ud 210 Tl dd Wew &1 16 IHs H UR $Hl ol &
! 91d fdaAl g2

1) 26HA 2) 62H"
(3 12%WA 4) 21WA
Options :

92090687685. 1
92090687686. 2
92090687687 3
92090687688. 4

Question Number : 22 Question Id : 92090622189 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

By oA fardlt We gu oafdd &1 6 Tbg Ud 210 Hi Wd WewH &1 16 bs # gR &l g1 A
&1 9rd fabaHl 82

(1) 2644 2) 62HIA
3 12%WA& 4) 21 MA
Options :

92090687685. 1
92090687686. 2
92090687687. 3
92090687688. 4

Question Number : 23 Question Id : 92090622190 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el s 7 1 @19, 3 g8, 2 el ud 4 dict T &1 718 Wl ) afe 49 9 uss Tig &) aefese wu
| [T 911 € 99 39& Ui Syal g3 8 $1 Uiilesdl [a 82

3 )
(1) 10 (2) 10

9 1
(3) 0 (4) T

Options :
92090687689. 1



92090687690. 2
92090687691. 3
92090687692. 4

Question Number : 23 Question Id : 92090622190 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el & 1 919, 3 84, 2 el ud 4 | T @1 312 i €)1 o 49 9§ s i &) gl wu
| [T 911 € 99 39& Ui Syal g3 8 $1 Uiilesdl [a 82

3 7
(1) 10 (2) 10
3 = @ L

Options :

92090687689. 1
92090687690. 2
92090687691. 3
92090687692 4

Question Number : 24 Question Id : 92090622191 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U AR & 4 AfFaadi S dlg T 3:3:2: 5 F SUId | diel 741 gic gax afaa & die aafad
¥ 2 500 3ifep e § o1 91d safda &1 fgwa &1 g

(1) T 500 (2) 1,500
(3) T 2,500 (4) % 3,500
Options :

92090687693. 1
92090687694. 2
92090687695. 3
92090687696. 4

Question Number : 24 Question Id : 92090622191 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U AR & 4 AfFaadi S dlg T 3:3:2: 5 F SUId | diel 741 gic gax afaa & die aafad
¥ 2 500 3ifep e § o1 91d safda &1 fgwa &1 g

(1) T 500 (2) 1,500
(3) T 2,500 (4) % 3,500
Options :

92090687693. 1
92090687694. 2
92090687695. 3
92090687696. 4

Question Number : 25 Question Id : 92090622192 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A A1 B 1 UrsY fFet ¢F & HH: 18 €€ dur 12 92 # 1R UHd g1 af2 3191 Uiy ue Ay
wia f2u ot o 98 @ fbad awg # wR SR

1 I

1) 6-Hal 2) 8- Hel
(1) : (2) 2

i o -
Options :

92090687697. 1
92090687698. 2
92090687699. 3
92090687700. 4

Question Number : 25 Question Id : 92090622192 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A TYT B T UISY fHHt ¢F &1 HHI: 18 ¢ dUT 12 42 # ¥R 9Fd ¢! I 341 Uisy U 91y
@rd feu 9 o 98 & [ 9Hg H W’ SR

1

1) 6= 9l 2) 8- Hdl
(1) : (2) 2

Y, (I oy
Options :

92090687697. 1



92090687698. 2
92090687699. 3
92090687700. 4

Part B: Environmental Sciences

Section Id : 920906440
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906712
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 92090622193 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The book “The Ages of Gaia — A biography of our living Earth (1988)" was written by

(1) E.S. Rowland
(2) Mario Moling
(3 James E. Lovelock

(4) William Golding

Options :

92090687701. 1
92090687702. 2
92090687703. 3
92090687704. 4

Question Number : 26 Question Id : 92090622193 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g UG 3t 711 — U SRIATD! {1t 3iTaR fifd s (1988) A (e & ddd &1 &7

(1) 309 Aqvs (2) IR Hife
(3) W §. wgdi® ) faferom micgn
Options :

92090687701. 1
92090687702. 2
92090687703. 3
92090687704. 4

Question Number : 27 Question Id : 92090622194 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which among the following is biggest anthropogenic source of atmospheric methane?

(1) Energy production/use
(2) Animal wastes
(3) Land fills

(4)  Domestic sewage

Options :

92090687705. 1
92090687706. 2
92090687707. 3
92090687708. 4

Question Number : 27 Question Id : 92090622194 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fgifeed ¥ ¥ @14 agHedd fBEE &1 aHe-9 did 82

(1) ol IAET IUhn (2) S g
(3) MR (4) O] HASd
Options :

92090687705. 1
92090687706. 2
92090687707. 3



92090687708. 4

Question Number : 28 Question Id : 92090622195 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the Si:0 ratio of amphiboles?

(1) 1:3 (2) 1:4
(3) 4:11 (4) 2:5
Options :

92090687709. 1
92090687710. 2
92090687711. 3
92090687712. 4

Question Number : 28 Question Id : 92090622195 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

uferdld &1 Si:0 S[Urd faeH gidl 87

(1 1:3 (2) 1:4
(3 4:M 4 2:5
Options :

92090687709. 1
92090687710. 2
92090687711. 3
92090687712. 4

Question Number : 29 Question Id : 92090622196 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which among the following is the most recent epoch on the geological time scale?

(1) Phocene {Z) Miocene
(3) Oligocene (4) Eocene
Options :

92090687713. 1



92090687714. 2
92090687715. 3
92090687716. 4

Question Number : 29 Question Id : 92090622196 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafafad o ¥ yaae gag ausy e sieErd- g S 91 82

(1) sffageH (2) HEFEA
(3) ST (4) 3T
Options :

92090687713. 1
92090687714. 2
92090687715. 3
92090687716. 4

Question Number : 30 Question Id : 92090622197 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A depth below which the shells dissolve in the deep sea water is called—

(A) Carbonate dissolution depth
(B) Carbonate precipitation depth
(C) Carbonate deposition depth

(D) Carbonate compensation depth

Options :

92090687717. 1
92090687718. 2
92090687719. 3
92090687720. 4

Question Number : 30 Question Id : 92090622197 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



dg TeTs o/ Y &ad T Wis i  fdali- 81 91dl 8, 39 &1 del |l 82

(1) oEEe fdag Teg (2) P THUN (AT TERTS
3) oEEe R nEas (4) DA UG e

Options :

92090687717. 1
92090687718. 2
92090687719. 3
92090687720. 4

Question Number : 31 Question Id : 92090622198 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
(;iven below are two statements :

Statement I : The crustal thickness varies between ~7 km under oceans and ~70
km under high mountains.

Statement IT :  Felsic rocks are typical of the oceanic crust, whereas mafic rocks are
typical of the continental erust.

In the light of the above Statements, choose the correct answer from the options given
below :

(1) Both Statement | and Statement Il are true
() Both Statement I and Statement [I are false
{(3) Statement 1 1s true but statement 11 1s false

(4) Statement 1 1s false but statement II 1s true

Options :

92090687721. 1
92090687722. 2
92090687723. 3
92090687724. 4

Question Number : 31 Question Id : 92090622198 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



RSy e §:

Dy -

WO 1 y@an # fisrar urdt s, g8 wg & 99 ~7 Al o 332 usrsi &
1 ~70 [ F dA g g

HUFIl:  Bichd Vd TSR W & e ol & od & Aftve I Hergidig wad

% YRS 0 ¢

JUIEd Y & el |, i 83U v f[decdl # J "el I 99 Hifen

(1)
(2)
(3)
(4)

Options :

HYF | AR ST Il €

HY | AR 1| ST A §

HY | 9 g, Al HUF 1l 3 &
HYT | 3T 8, Al U 11 TA 8§

92090687721. 1
92090687722. 2
92090687723. 3
92090687724. 4

Question
Question

Number : 32 Question Id : 92090622199 Question Type : MCQ Option Shuffling : No Is
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Match List T with List IT :

List 1 List 11
(A) Ox-bow lake (I) Wind
(B) Playa (I} Glacier
(Cy Cirque (III) River
(D) Dunes (IV) Lake

Choose the correct answer from the options given below:

(1) (A)-(L), (B)-(II), (C)-(IV), (D)-(I)
(2) (A, (B)-(IV), (C)-(11), (D)-(I)
(3)  (A)-(11), (B)-(ILL), (C)-(IV), (D)-(T)
(4) (A1), (B)-(IV), (C)-(I1T), (D)-(T)

Options :

92090687725. 1



92090687726. 2
92090687727. 3
92090687728. 4

Question Number : 32 Question Id : 92090622199 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

It 1 & |1 gt 1| &1 e St

-1 =
(a)  HiagE sid Iy udd
(B) Tl (I feug
) 9% iy a1
(D) I (X &1 2 (Iv) Sie
A1 fag 1 faseul § 9 Wgl I g

(1) (A=), B)-(n), (C-(V), (D)-(1)
(2) (A=), (B)-(IV), (C)-(IN), (D)-()
(3) (A0, (B)-(I), (C)-(1V), (D)-(1)
(4 (A)-), (B)-(IV), (O-(11), (D)-(1)

Options :

92090687725. 1
92090687726. 2
92090687727. 3
92090687728. 4

Question Number : 33 Question Id : 92090622200 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which among the following weather to provide Mg?t ions to groundwater?
(A) Amphihole

(B) Biotite

(C) Plagioclase

(D) Dolomite

(E) Calcite

Choose the correct answer from the options given helow :

(1) (A), (B), (C), (D) only (2) (A), (B), (C) only
(3) (A, (B), (D), (E) only (4)  (A). (B). (D) only
Options :

92090687729. 1
92090687730. 2
92090687731. 3
92090687732. 4

Question Number : 33 Question Id : 92090622200 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafefad 7 ¥ &1 s/ve & d1g WiTeid &1 Mg?* 318+ UeTH &l 87
A, UAplEl

B. dMdicige

C. WwWiicaed

D. S/amEe

E. PR

i fou 0 fawmedl o 9§ 9l I &1 AT

(1) &dd A B CD
(2) dd A B, C

(3) &dd A B D,E
(4) &dd A B, D



Options :

92090687729. 1
92090687730. 2
92090687731. 3
92090687732. 4

Question Number : 34 Question Id : 92090622201 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One 1s labelled as Assertion (A) and the other is

labelled as Reason (R) :

Assertion (A) : The average composition of atmosphere near the surface of earth is
given on dry basis and in terms of mixing ratio (weight percent
basis).

Reasons (R): Water content in atmosphere near the surface of the earth is variable
with respect to location, time and the concentration of gases in
volumetric units (moles/litre) varies with temperature and pressure
conditions,

In the light of the above Statements, choose the correct answer from the options given
below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) is true but (R) is false

(4) (A) 15 false but (R) is true

Options :

92090687733. 1
92090687734. 2
92090687735. 3
92090687736. 4

Question Number : 34 Question Id : 92090622201 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I 3B A 3R T6 R WS &1 Sy R T 8

HUBYT A - Tl & dd & WHU IGHST DI SEa XTI, Ihal SR 0T SEUT (WR
3{TYR) & YR W & o g

PHRUIR : agHed H gl & gy & §HiU Sd &1 0 ®E, $1d & YR giafdd gl
2 3R smuafe geal (e /die’) 7 19 B AFE0 AU SR 29 ST 3
& AR FE-FE g 8|

Iuda YT & ot #, A9 el T e # 9 uEl 3R g

(1) A 3RRGH U8l & 3R R, A ] el AT 8
(2) ASRRTEHA WS E [ R A D el O TRl B

3) AUEE fPgrI@AE
(4) ATEAE fegruEde

Options :

92090687733. 1
92090687734. 2
92090687735. 3
92090687736. 4

Question Number : 35 Question Id : 92090622202 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

El Nino and La Nina phenomena are observed in—

(1) Pacific Ocean (2} Indian Ocean
{(3) Mediterranian Sea (4) Atlantic Ocean
Options :

92090687737. 1
92090687738. 2
92090687739. 3
92090687740. 4

Question Number : 35 Question Id : 92090622202 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e AT SR @t A uRgennt Fafefaa | @ e iféd @t e 82

(1) U HETR (2) f= WemrR
(3) YHOENIHY 9FR (4) 3fcdiled AERETR
Options :

92090687737. 1
92090687738. 2
92090687739. 3
92090687740. 4

Question Number : 36 Question Id : 92090622203 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Scaling may lead to corrosion and damage of boilers or water cooling systems. Which
of the following compound is insoluble and forms scale?

(1) Barium Sulfate (2) Calcium Chloride
() Sodium Chloride (4) Sodium Nitrate
Options :

92090687741. 1
92090687742. 2
92090687743 3
92090687744. 4

Question Number : 36 Question Id : 92090622203 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

b & UNUMH WY HYST O Fd ULiiad yonel § Fsedu ar efd gl wed g, Fe A @
H 19 91 Qi sifder § SR 3Ud Yo &1 Ao gar g2

(1) 9Rgd Helbe 2) FicRrn FARES
(3) GIfgunA FRES (4) WfsgHEee
Options :

92090687741. 1
92090687742. 2
92090687743. 3
92090687744. 4



Question Number : 37 Question Id : 92090622204 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One i1s labelled as Assertion (A) and the other is
labelled as Reason (R) :

Assertion (A) : Nuclear fission occurs rapidly in atomic bomb explosion and occur
relatively slowly in a nuclear reactor.

Reasons (R) : Nuclear reaction of splitting a massive nucleus into less stable and
less massive nuclel with release of energy 1s nuclear fission.

In the light of the above Statements, choose the correct answer from the options given
below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2} Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) 15 true but (R) 1s false

(4) (A) 1s false but (R) 1s true

Options :

92090687745. 1
92090687746. 2
92090687747. 3
92090687748. 4

Question Number : 37 Question Id : 92090622204 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



9 3By A 3R 9% R THE 3 By RO T §:

AFYT A : WRHIUaS 9 fFuEe § M fadsa 3ot 4 €1 & ik A sififea
¥ gg fade sriendd e fd A g gl

HRUIR el WP F5P 31 HH VTS SR UTHd I YAHH Sl 1 Sl
g vied faEea, ety fadsT giar gl

Iudad Y1 & ol A, 19 58 T el § 9 9el 3w g

(1) AJARREH Uet € dUIR, A B U AR

(2) ASIRREHIUE B, fbg R, A &1 5 e A ©
(3) AUEE fBgrITAD

(4) AT g, g R TE B

Options :

92090687745. 1
92090687746. 2
92090687747. 3
92090687748. 4

Question Number : 38 Question Id : 92090622205 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements ;: One 1s labelled as Assertion (A) and the other is
labelled as Reason (R) :

Assertion (A): Type B metal ions form more stable complexes compared to Type A
metal ions.

Reasons (R) - High electro-negativity (in relative terms) of metal and low
electro-negativity of the legand donor atom would be consistent with
stability of a complex with Type B metal 1on.

In the light of the above Statements, choose the most appropriate answer from the
options given below:

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

{(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) 1s correet but (R) 1s not correct

(4) (A) is not correct but (R) is correct



Options :

92090687749. 1
92090687750. 2
92090687751. 3
92090687752. 4

Question Number : 38 Question Id : 92090622205 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 Sy A 3R T R WS ol By RO T &

AUBUTA : URSY A tifcdd ATl 1 g1 § 8 Uy wifcdd 3o ifte wirg afiy &1
[EELERGE

HRUIR : YIgell 1 I dggd HUNESl (Wiféd ¥4 H) 3R Yaud aral YA &
A f4ggd RS UEd B UIfdd 310 & Wiy & RIfdd & ey
gl

Iudad syl & e #, 1 33 1 e § 1 9el 3w g

(1) A 3R REH Tl € dUTR, A P Ul S €

(2) A SRR IHE 6§, fFg R, A B 9l T el &
3) AUEE fBFgrIEd?

(4) ATde, fPgRUE R

Options :

92090687749. 1
92090687750. 2
92090687751. 3
92090687752. 4

Question Number : 39 Question Id : 92090622206 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following species is NOT a proton acceptor in natural waters?
(1) OH (2) HCO,
(3) cor (4) Hi0°

Options :



92090687753. 1
92090687754. 2
92090687755. 3
92090687756. 4

Question Number : 39 Question Id : 92090622206 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafafed 7 9 @19 @ e wefae o # Wl mie 78 gkl 82

(1) OH (2) HCO:
(3) cor (4) H.O’

Options :

92090687753.
92090687754.
92090687755.
92090687756.

A W N —

Question Number : 40 Question Id : 92090622207 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What will be the concentration of nitrogen (N) in a 31 ppm solution of nitrate?

(1) 31 ppm {2) T ppm
(3) 14 ppm {4) 28 ppm
Options :

92090687757. 1
92090687758. 2
92090687759. 3
92090687760. 4

Question Number : 40 Question Id : 92090622207 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



31 ppm Agee & fdage # Argele (N) &1 Arsal fba- grfl?

(1) 31 ppm (2) 7 ppm
{3) 14 ppm (4) 2B ppm
Options :

92090687757. 1
92090687758. 2
92090687759. 3
92090687760. 4

Question Number : 41 Question Id : 92090622208 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Most important buffering species in the pH range of 4 to 8 in natural water is

(1) COT (2) Hz2003
(3) H:0+ (4) HCO,
Options :

92090687761. 1
92090687762. 2
92090687763. 3
92090687764. 4

Question Number : 41 Question Id : 92090622208 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Wi ofc H 4 9 8 B pH ¥o H Halis Aeaqul Hiee (4T Ufaieq) oifd &1 4 &2

(1) COo:® (2) H2€0;
(3) H;0* (4) HCO;
Options :

92090687761. 1
92090687762. 2
92090687763. 3
92090687764. 4



Question Number : 42 Question Id : 92090622209 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are soil forming factors?
(A) Time

(B) Topography

({C)  Climate

(I  Organisms

(E). Parent material

Choose the correct answer from the options given below :

(1) (A), (C) and (D) only (2) (A), (B), (D) and (E) only
(3) (B). (C), (D) and (E) only (4) (A), (B). (C), (D) and (E) only
Options :

92090687765. 1
92090687766. 2
92090687767. 3
92090687768. 4

Question Number : 42 Question Id : 92090622209 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HeRT® BRS Fufafaa a4 82

A §HY

B. IRl

C. Uadg

D. Wiid

E OHe gl

12 3w 70 faseul 7 9 g IW A

(1) ®adA C3RD (2) PdUA B DSRE
(3) ddaB,C D3RE (4) HIAAA, B, C, DRE

Options :



92090687765. 1
92090687766. 2
92090687767. 3
92090687768. 4

Question Number : 43 Question Id : 92090622210 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A planet having 300 K average surface temperature will emit maximum radiation in

(1)  Ultra violet region
{2) Visible region
(4

(

4) Microwave region

L—

Infrared region

Options :

92090687769. 1
92090687770. 2
92090687771. 3
92090687772. 4

Question Number : 43 Question Id : 92090622210 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S 300 K UE a9 ard 98 9, i § 9 fhae siftead fafdor Ixafold gim?

(1) TETE 8F (2) TWOHME &F
(3) SIPRE (3fElE) & (4) G &
Options :

92090687769. 1
92090687770. 2
92090687771. 3
92090687772. 4

Question Number : 44 Question Id : 92090622211 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



When the scattering particles in the atmosphere are small compared with the
wavelength (A) of light being scattered, the scattered intensity will be proportional to

() A2 (2) Ad
(3) A (4) X
Options :

92090687773. 1
92090687774. 2
92090687775. 3
92090687776. 4

Question Number : 44 Question Id : 92090622211 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

wa argFsa § yaiifa sur yeiftla & @ uer &t awresl () & go # ag e g, @
yaifotd diaar 9 @ fod & garuias g

(1) A2 (2 Xx*
) e 4 Ar*
Options :

92090687773. 1
92090687774. 2
92090687775. 3
92090687776. 4

Question Number : 45 Question Id : 92090622212 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The prophase of first meiotic division is divided into phases list below. Arrange the
phases in the order, as they occur one after the other.

(A)  Diplotene
(B) Zvgotene
(C) Siakineses
(D} Leototene
(E). Pachytene

Choose the correct answer from the options given below :

(1) (A), (O), (B), (E), (D) (2) (D), (B), (E), (A), (C)
Options :

92090687777. 1
92090687778. 2
92090687779. 3
92090687780. 4

Question Number : 45 Question Id : 92090622212 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

wyH SR faureF @1 urawyl FafifEd saenst # faved gl 81 38 U & 91 U 9t
g & HH H aafeud Sifee:

A fgwrd=

B. WIZICH

c. fgemeEad

D. @PIEH

E. UddE

919 fau 78 faeal § 9 w6l IR I

() ACBED (2) D,BEAC
3) EAD,BC (4) EBACD

Options :



92090687777. 1
92090687778. 2
92090687779. 3
92090687780. 4

Question Number : 46 Question Id : 92090622213 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
(Given below are two statements :

Statement [ ;. While studying the pattern of inheritance in pea plants, Mendel
proposed the prineiples of inheritance, now known as ‘Mendel's Law
of Inheritance’.

Statement [1: Mendel's law of independent assortment does not hold true for the
Tinked genes’.

In the light of the above Statements, choose the correct answer from the options given
below :

(1) Both Statement | and Statement Il are true
(2) Both Statement [ and Statement Il are false
(3) Statement [ is true but statement I 1s false

(4) Statement [ is false but statement I is true

Options :

92090687781. 1
92090687782. 2
92090687783. 3
92090687784. 4

Question Number : 46 Question Id : 92090622213 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FR APy AT E:

HYT| . HeX & URHl # 4R H & UfaEy & gy & gAY, Hed - 4R Rigid
yfduried fava, S o/ Hed & S die Fan & ¥4 A S a1 g

HY I TS T WaA Usggd Fram mifta (@e) o & e aa T8t 8|
Iue FHYI & oftae A, 19 8 7 fawedi § 9 uEl IR g

(1) YA 3R FYT 1 S T B
(2)  BYF| SR BYT I S T &
(3) ®YF 198l g, fobe HYA 11 T ©
4) ®YFI7ad g, g du= 11 9El §

Options :

92090687781. 1
92090687782. 2
92090687783. 3
92090687784. 4

Question Number : 47 Question Id : 92090622214 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the double-helix structure of DNA two hydrogen bonds are formed between which
two bases of the opposite strands?

(1) Adenine with Guanine
(2)  Adenine with Thymine
(3)  Guanine with Cytosine

(4)  Guanine with Thymine

Options :

92090687785. 1
92090687786. 2
92090687787. 3
92090687788. 4

Question Number : 47 Question Id : 92090622214 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fufifad & ¥ o7 &1 faudla dgsit & omuR & v 1 A v @l fgdefedt S a4 @
elgglar | &1 o grar g2

(1) ufsfE SR 1enfa (2) UEFA 3R uEhiE
(3)  T&HA SR WEeRE @) T3 R YA
Options :

92090687785. 1
92090687786. 2
92090687787. 3
92090687788. 4

Question Number : 48 Question Id : 92090622215 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are genetic elements?
{(A) Plasmid

{(B) Chromosome

(C) DNA polymerase

(D) Transposable element

(E). Genome

Choose the correct answer from the options given below :

(1) (B).(C), (D). (E) only (2) (A), (B), (D), (E) only
(3 (A). (B), (C), (E) only (4) (A), (C), (D), (E) only
Options :

92090687789. 1
92090687790. 2
92090687791. 3
92090687792. 4

Question Number : 48 Question Id : 92090622215 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fFrofafad § 4 srafie aa & 8§ 87

A @RS

B. TR

C. Siuau diftmys

D. uRgdeiiddd

E. ©FM

i feu 0 faeedl 7 8 wel IR g

(1) @ddB,C D,E (2) ®dd A B,D,E
(3) PddA B, CE (4) FAAA CD,E
Options :

92090687789. 1
92090687790. 2
92090687791. 3
92090687792. 4

Question Number : 49 Question Id : 92090622216 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

To enhance the existing populations of biodegrading micro-organisms, specific
microbes are added to soil. This process is called -

(1) Bioaccumulation (2) Bioaugmentation
(3) Bioconservation (4) Bioengineering
Options :

92090687793. 1
92090687794. 2
92090687795. 3
92090687796. 4

Question Number : 49 Question Id : 92090622216 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



o A GeH Sitd $i e S-e dg ofe Ja # fafy gam Sital @1 aiferd fear
W 8, T UebH HEaNI &:

(1) SgH=ga (2) GigaHd
(3)  SIaERem 4) Sasifife!
Options :

92090687793. 1
92090687794. 2
92090687795. 3
92090687796. 4

Question Number : 50 Question Id : 92090622217 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

At the surface of the sea (air-water interface), is the microbial habitat referred to as
the

(1) Neuston {21 Pleuston
(3 Benthos (4) Episton
Options :

92090687797. 1
92090687798. 2
92090687799. 3
92090687800. 4

Question Number : 50 Question Id : 92090622217 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g B Udg (I7g-STd-3{d:Hde) W, Y& Siid &7 3198 & 6 0 &1 S 82

(1) A (2) wgEA
(3) &Yy @) Tt
Options :

92090687797. 1
92090687798. 2
92090687799. 3
92090687800. 4



Question Number : 51 Question Id : 92090622218 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Method of phylogenetic analysis of bacteria based on DNA fragments encoding their
165 rENA is called as

(1)  Multi Locus Sequence Typing (2) Fatty Acid Analysis
(3)  Ribotyping (4) rep-PCR
Options :

92090687801. 1
92090687802. 2
92090687803. 3
92090687804. 4

Question Number : 51 Question Id : 92090622218 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

{8 U9 U fadsd & SmuR W Siaefl & YRR fbarets fazawor &1 fafy, fowd 165 IR UTA U
&1 g Tg BId1 ¢, T8 1 Heald! 82

(1) 98 &= g §¢1 (2) 91 3 f[ageso
(3) e @) fosiefes - dRitemR
Options :

92090687801. 1
92090687802. 2
92090687803. 3
92090687804. 4

Question Number : 52 Question Id : 92090622219 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other is
labelled as Reason (R) :

Assertion (A): Pore spaces In surface soils 15 an important factor in deciding
microbial density and distribution.

Reasgons (R) : Small pore necks protect resident bacteria from protozoal predation.

In the light of the above Statements, choose the correct answer from the options given
below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) 1s NOT the correct explanation of (A)
(3 (A) 18 true but (R) is false
(4) (A) 15 false but (R) is true
Options :
92090687805. 1
92090687806. 2

92090687807 3
92090687808. 4

Question Number : 52 Question Id : 92090622219 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 3ifirpy A 3R OF R WS &l HuH AR

HFHYT A : S Hal ¥ WIPR, Y& oiidl T R v & Uk &1 dgaye] $RS g
HRUR: oY Jegad dial Fard Siar] &1 dieisn & qR-Haor § g #3d g
Iude Byl & Sreie H, A9 38 1 faeedi § § wel IW 9

(1) ASRREH UEI € dUIR A D] USI ARBA &

20 AR REH GE 8 PR, A BT UEl Ure 8 §

3) AWEIE FgRIEAR

(4) ATEAE, fPIREER

Options :

92090687805. 1

92090687806. 2

92090687807. 3
92090687808. 4



Question Number : 53 Question Id : 92090622220 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following features distinguish Bacteria from Eukarya?
(A) Membrane lipids
(B) Poly (A) tailing of mRNA
(C)  Cell structure
(D) Plasmids

(E). Hibosomes

Choose the correct answer from the options given below :

(1)  (A), (B). (D). (E) only (2) (A), (C), (D), (E) only
{3) (B), (C), (D), (E) only (4) (A}, (B), (C), (E) only
Options :

92090687809. 1
92090687810. 2
92090687811. 3
92090687812. 4

Question Number : 53 Question Id : 92090622220 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fFrafefad # 4 ® 3 fagant gatvar 4 dedifvar @1 faug s g2

A el fafos

B. mRNA &1 &g (A) U3

C. IR HI=A

D. wWifeHgd

E.  USEH

19 fau U faseal 7 9 wel I gAY

(1) &ddA B, D E (2) PddA,CDE
(3) &ddB,CDE (4) PdUA, B CE
Options :

92090687809. 1
92090687810. 2
92090687811. 3
92090687812. 4

Question Number : 54 Question Id : 92090622221 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II:

(A)
(B)
(C)
(D)

List I List II

(Microbe) (Natural habitat)
Streptomyces (I} Aquatic habitat
Influenza virus (IT) Terrestrial Environment
Spirulina (III) Sewage treatment
Giardia (IV) Airborne pathogen

Choose the correct answer from the options given below:

(1)
(2)
(3)
(4)

(A)-(IV), (B)-(11L), (C)-(11), (D)-(I)
(A)-(IV), (B)-(D), (C)-(1I), (D)-(I11T)
(A)-(1LD), (B)-(IV), (C)-L), (D)-(I)
(A)-(ID), (B)-(IV), (C)-(I), (D)-(I1D)



Options :
92090687813. 1

92090687814. 2

92090687815. 3

92090687816. 4

Question Number : 54 Question Id : 92090622221 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks

: 4 Wrong Marks : 1

Tt | B gl 1S 9y Rl S

- i
EIEL) CIEAREZEIGIES)
(A) WPHREY () ooy sifiam
(B) SURIUSI ()  Hife yaiao
(€) e (1) Feod Y
(D) Tosmsha (Iv) SrgEfd IRTaE®
49 3 T el 4 9 w8l I 9T
(1) (A)-(IV), (B)-(111), (C)-(11), (D)-(1)
(2) (A)-(1V), (B)-(1), (C)-=(I1), (D)-(111)
(3) (A)-(11), (B)-(IV), (C)-(11), (D)-(1)
(4) (A)-(11), (B)-(IV), (C)-(1), (D)-(111)
Options :

92090687813. 1
92090687814. 2
92090687815. 3
92090687816. 4

Question Number : 55 Question Id : 92090622222 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks

: 4 Wrong Marks : 1



In Ferns, the vascular stands of a dictyostele are called as

(1) Telomes
(2) Meristeles
(3)  Pith

(1) Trabeculae

Options :

92090687817. 1
92090687818. 2
92090687819. 3
92090687820. 4

Question Number : 55 Question Id : 92090622222 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

wH # ffaeaified & ddg= 4y 1 Hedrd 87

(1) <amg (2) AT
3) oy (4) CoERgel
Options :

92090687817. 1
92090687818. 2
92090687819. 3
92090687820. 4

Question Number : 56 Question Id : 92090622223 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Nematodontous peristomes are found in

(1) Funaria (2} Bryum
(3 Marchantia (1) Polytrichism
Options :

92090687821. 1
92090687822. 2
92090687823. 3
92090687824. 4



Question Number : 56 Question Id : 92090622223 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FiesS=y Ui &gl Ul ord 87

(1) AR 2) wHEH
(3) wdfedr (4) Uicifcad
Options :

92090687821. 1
92090687822. 2
92090687823. 3
92090687824. 4

Question Number : 57 Question Id : 92090622224 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to telome theory, which one of the following processes accounted for the
shifting of sporangia to ventral surface of leaf in ferns?

(1) Overtopping (2) Planation
(3) Syngenesis (4) Inecurvation
Options :

92090687825. 1
92090687826. 2
92090687827. 3
92090687828. 4

Question Number : 57 Question Id : 92090622224 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dlam Rigia & o e Faffed 9 9 o1 W ufsar goriil § W< &1 od § Iead &1
IR WY & fore ITverd! gl 82

(1) IS H (sfiazerd) (2) WHTAE
(3) TAeRRM @re=e) (4) TADBANA (SMAIHU)



Options :

92090687825. 1
92090687826. 2
92090687827. 3
92090687828. 4

Question Number : 58 Question Id : 92090622225 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the taxonomic categories of wheat in descending order :
(A) Monocotyledonae
(B) Angiospermae
(C) Poaceae
(D)  Poales

(E) Triticum

Choose the correct answer from the options given helow :

(1) (E). (D), (O), (B), (A) (2) (A), (B), (C), (D), (E)
(3 (B).(A). D), (C), (E) (4) (A), (C), (D), (B), (E)
Options :

92090687829. 1
92090687830. 2
92090687831. 3
92090687832. 4

Question Number : 58 Question Id : 92090622225 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g 1 afffebty Aford] &1 sravigl s H syafyd S
A, AFETIRESH

B. UforireuHf

C. unTH

D. YUH

. fefewn

19 fau U faseedl § 9§ el IR g

(1) EDGCBA 2 ABCDE
(3) B,ADCE 4 ACD,BE
Options :

92090687829. 1
92090687830. 2
92090687831. 3
92090687832. 4

Question
Question

Number : 59 Question Id : 92090622226 Question Type : MCQ Option Shuffling : No Is
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

(riven

below are two statements: One is labelled as Assertion (A) and the other is

labelled as Reason (R) :

Assertion (A) : The gymnosperms are plants in which the ovules are not enclosed by

any ovary wall and remain exposed, both before and after
fertilisation.

Reasons (R):  Common examples gymnosperms are Psilotum and Lycopodium.

In the
below:

(1)
(2)
(3)
(4)

Options :

light of the above Statements, choose the correct answer from the options given

Both (A) and (R) are true and (R) is the correct explanation of (A)
Both (A) and (R) are true but (R) 15 NOT the correct explanation of (A)
(A) is true but (R) is false

(A) is false but (R) is true



92090687833. 1
92090687834. 2
92090687835. 3
92090687836. 4

Question Number : 59 Question Id : 92090622226 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A HfHHEYA A 3R T6 R 9SG &l dyF A0 E:

SMHBYT A - SFAIG el UTey U ey 81d 8 for srusTy] ot srvarer fir 9 dgw el
gId SR FieA gd SiR uyTa g feufertl & Iwriea g 8|

PRUR : 3T |t & Urey HHF JaTeR0l H Rieien ok agemifeay mitd g
U YAl & el H, i el T fawadt § 9 w8t 3w 9

(1) ASIRREH Usl 8 dUTR A B Tl U &

(2) AJRREME GG E FIR AT USRI TE
(3) AUEE fFgRrIEAR

(4) ATCAE, FPgREER

Options :

92090687833. 1
92090687834. 2
92090687835. 3
92090687836. 4

Question Number : 60 Question Id : 92090622227 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I ;  LAA is transported from cell to cell and the transport 1s unidirectional
(polar).

Statement Il : Auxins induce the adventitious roots on cuttings and inhibit the leaf
and fruit abscission.

In the light of the above Statements, choose the most appropriate answer from the
options given below :

(1) Both Statement [ and Statement Il are correct
(2) Both Statement | and Statement Il are incorrect
(3) Statement [ is correct but statement Il is incorrect

(4) Statement [ is incorrect but statement Il is correct

Options :

92090687837. 1
92090687838. 2
92090687839. 3
92090687840. 4

Question Number : 60 Question Id : 92090622227 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RIsyRAIME

BYT| ;3 U U BT URGed U PHIAHT 4 g ST § gl ¢ 3R 98 uRkded usd
faeita (gydta) gar g

YT Il S RS ga o1 $els da WH W URT X 8 SR T SR wal &
3Tesg &1 URRIY SR & |

Iue HYT & Sl H, 19 fad T el # 8 uel 3w g

(1) YT IR BYT I S G B
(2) By AR FYF I S A &
(3) Y| P 8, fobg HUA 11 e B
4) YA B, g FYT I wd

Options :
92090687837. 1



92090687838. 2
92090687839. 3
92090687840. 4

Question Number : 61 Question Id : 92090622228 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statements are correct?

(A) In CAM plants the fixation of CO: to phosphoenolypyruvate to form
oxaloacetate occurs at night.

(B) In photosystem I the special chlorophyll, the molecules of reaction centre are
known as Peso.

(C)  During photosynthesis manganese 1s an essential co-factor for oxygen evolving
mechanism.

(D) The leaves of C, plants are characterized by Kranz anatomy.

(E). (s plants are more efficient utilizers of CO; than C; plants.

Choose the correct answer from the options given below:

(1) (B) and (E) only (2) (A), (B)and (C) only
(3) (A), (C), and (D) only (4) (D) and (E) only
Options :

92090687841. 1
92090687842. 2
92090687843. 3
92090687844. 4

Question Number : 61 Question Id : 92090622228 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frafafEd # 4 o1 9 Sy udl 82

A, CAM UIRY ¥ BIERIUATAUEEde H €O, &1 W gl § e wewasy Id §
Slqatandtee &l AR ga g1

B. W o - | W fadm gRacas, ufafear & & Suisfl B Peso a1 &Il &

C. VUDRNENY & aRMA JiedioH e fraralt ) & e drie us siffard |g-
FRP o

D. TIEY (C: wic) 3! 9fEd, wiel TArerH § afEfmu @aeiss) &1 &l 8
E.  C.UIEY &1 SfUadd C: Uley, CO, ! e &l (Fadn ¥ 3udi $d g

419 R v faadl 7 9 Wl IR gAY

(1) ®adB3MRE (2) Hdd A B3ARC
(3) HddA C 3RD 4y PAADRE
Options :

92090687841. 1
92090687842. 2
92090687843. 3
92090687844. 4

Question Number : 62 Question Id : 92090622229 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List T with List 11 ;

List [ List 11
{Bacteria) {(Shape)
(A) Coccus (I Rod-shaped
(B} Bacillus (IT) Comma-shaped
() Vibrium (I1I) Spherical
(D) Spirillum (IV) Spiral

Choose the correct answer from the options given below:

(1) (A)-(D), (B)-(II), (C)-(I11), (D)-(IV)
(2)  (AAID, (B)-(ID, (C)-(D). (D)-(AV)
(3)  (A)-(IV), (B)-(I10). (C)-(1T), (D)-(T)
(4) (A)-(IID), (B)-(I), (C)-(II), (D)-(IV)

Options :

92090687845. 1
92090687846. 2
92090687847. 3
92090687848. 4

Question Number : 62 Question Id : 92090622229 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T | 1Y Y 1 P Y gAferd B

-1 (Sfamy Tl -l (3TPR)
(A) DIPY () S S AP &I
(B) dfEw () HHE P HBR BT
) fafsam () TeeR
) FuRen (v) Wfda
14 22 A fadedl & 9§ 9l IR g

(1 (A=), (B)-(l), (C)-(hn), (D)-(IV)
(2} (A)-(), (B)-(l), (C)-(1), (D)-(IV)
(3)  (A)-(V), (B)-(1), (C)-(IN), (D)-()
() (A, B)-(1), (C)-(), (D)-(Iv)



Options :

92090687845. 1
92090687846. 2
92090687847. 3
92090687848. 4

Question Number : 63 Question Id : 92090622230 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The high impact species whose removal from community affects persistence of other
species, and their impact is disproportionate to abundance are known as

(1) Umbrella species (2) Flagship species
{3) Exotic species (4) Keystone species
Options :

92090687849. 1
92090687850. 2
92090687851. 3
92090687852. 4

Question Number : 63 Question Id : 92090622230 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I Y 91 wenfadi 5 WHe 9 g2 & URumm WEY - uaradl & siftad § |4
&A1 gHIfad BT & 3R 39%1 UG Sigeddl & Surd § F8! aidl ¢, U8 $eardl o

(1) 3fsen Wi (2) SR Wi
(3) Udsiiics wRfS @) F-wE ey
Options :

92090687849. 1
92090687850. 2
92090687851. 3
92090687852. 4

Question Number : 64 Question Id : 92090622231 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following IUCN category is assigned when a species faces an extremely
high or very high risk of extinction in the wild in immediate or near future?

(1) CR — Critically endangered species
(2)  NT — Near threatened species
(3 VU — Vulnerable species

(4) Extinct species

Options :

92090687853. 1
92090687854. 2
92090687855. 3
92090687856. 4

Question Number : 64 Question Id : 92090622231 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o UaTiodl &1 Srea®e H sfydl Fide ufas T faqmurg g9 &1 9ga e W gidl & d
3% 1S g A T & b ot 7 Tar o 87

(1) ¥ 3R - Hifds ¥9 T SIRGHI Usiid
2) T H - G U gafd

(3)  d1g-gea @Je) ued
4)  faqw s

Options :

92090687853. 1
92090687854. 2
92090687855. 3
92090687856. 4

Question Number : 65 Question Id : 92090622232 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is the key fauna in the Gulf of Mannar biosphere reserve for
in-situ conversation of biodiversity in India ?

(1) Indian Wild Ass (2} Dugong or sea cow
(3) Snow leopard (4) Nilgiri — Tahr



Options :

92090687857. 1
92090687858. 2
92090687859. 3
92090687860. 4

Question Number : 65 Question Id : 92090622232 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YRd ¥ W-'H ofd fafderan & fore waR ofd dea snaRvg & @ret § Fifed § 9 1 uga
i 87

(1) HRO™ IS (2) ST A1 WA T (& B)
3) R dgsn @ dus) (4) i ar
Options :

92090687857. 1
92090687858. 2
92090687859. 3
92090687860. 4

Question Number : 66 Question Id : 92090622233 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following Taxonomic groups in the decreasing order of the number of
species described on the earth :

(A) Vascular plants

(B) Insects

(C) Fungi
(D) Algae
(E) Fish

Choose the correct answer from the options given below:

(1) (A), (B), (C), (D), (E)
(2)  (B). (A), (C), (D), (E)
(3)  (E), (D), (C), (B), (A)
(4)  (O), (D), (E), (A), (B)

Options :

92090687861. 1

92090687862. 2

92090687863. 3
92090687864. 4

Question Number : 66 Question Id : 92090622233 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gedi R aftfd genfodi &t dwem & ged o # Fgifed afffe! gl & aaafua $ife:
A.  Hdrel urey

B. &IT

C. &dd

D. ar

E "

A1 fau e fasedt § 9 Wl I gHa

(1) ABCDE (20 B,ACDE

(3) EDCBA (4 CDEAB



Options :

92090687861. 1
92090687862. 2
92090687863. 3
92090687864. 4

Question Number : 67 Question Id : 92090622234 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements:

Statement [ :  Pteridophytes are the first terrestrial plants to possess vascular
tissues.

Statement [1: The common examples of ferns are Funaria and Sphagnum.

In the light of the above Statements, choose the correct answer from the options given
bhelow:

(1) Both Statement | and Statement [l are true
(2) Both Statement [ and Statement Il are false
(3) Statement [ is true but statement 11 1s false

(4) Statement I is false but statement I is true

Options :

92090687865. 1
92090687866. 2
92090687867. 3
92090687868. 4

Question Number : 67 Question Id : 92090622234 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) Y| AR P | S S ®
(2) Y SR BYA | EFI TTed §
(3) ®YFIHEl g, g dyA 11 TTad ©
4) YT B, TS wd

Options :

92090687865. 1
92090687866. 2
92090687867. 3
92090687868. 4

Question Number : 68 Question Id : 92090622235 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Giiven below are two statements: One is labelled as Assertion (A) and the other is
labelled as Reason (R):

Assertion (A):  Some species of Katydids (or Busherickets) resembles with complete
leaf or appears to be a part of leaf.

Reasons (R) : Katydids show camouflage as a behavioural strategy to avoid
predation.

In the light of the above Statements, choose the correct answer from the options given
below:

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) is true but (R) is false
(4) (A) 1s false but (R) is true
Options :
92090687869. 1

92090687870. 2
92090687871. 3



92090687872. 4

Question Number : 68 Question Id : 92090622235 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

41 31firpya A 3R & R 99 Sy AT

HUBYA A :  Hiefeg @ qUihde) D T Yoniadl X U= | firddl S[edl g a1 W &1 o=
efid grht €1

HRUIR : Ffefeg Wuym 4 994 §q AGeR® W & &4 § Feay yekid
E2GI ]

Ul Syl & Sffcie H, 19 ol T fasedl # 9 ugl 3w g

(1)  AJRREH SIS dUIR A B 9l TSN &

(2) AMRRIAIWEIE FIR AT G AN T ©
(3) AUEE fPgrIAA?

(4) ATCCE, fPgREE R

Options :

92090687869. 1
92090687870. 2
92090687871. 3
92090687872. 4

Question Number : 69 Question Id : 92090622236 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List 1T :

List I List I1
(Biographic Zone) {Biotie Provinces)
(A) Himalayan (It Kutch
(B) Desert (II) North West Himalaya
(C) Semi Arid (I1I) Punjab
(D) Western Ghats (IVy Malabar Coast

Choose the correct answer from the options given below:

(1) (A, (B)-(ID), (C)-(ILD), (D)-(IV)
(2)  (Q)-(D), (B)-(D), (C)-(ILD), (M-(IV)
(3)  (A)-AV), (B)-(ID), (C)-(L), (D)-(1)
(4)  (A4)-(D), (B)-IV), (C)-(D), (D)~(III)

Options :

92090687873. 1
92090687874. 2
92090687875. 3
92090687876. 4

Question Number : 69 Question Id : 92090622236 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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- ! -
@ irferes & (Sifeep &)
(& Tewmel n T
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(1) (A)-(1), (B)-(I), (O)-(IN), (D)-(1V)
(2) (A)-(11), (B)-(1), (C)-(I), (D)-(1IV)
(3) (A)-(IV), (B)-(111), (C)-(11), (D)-(1)
(4) (A)-(11), (B)-(1V), (C)-(1), (D)-{lI1)

Options :

92090687873. 1
92090687874. 2
92090687875. 3
92090687876. 4

Question Number : 70 Question Id : 92090622237 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following cell lines does not grow in suspension culture?

(1) THP-1 (2) K562
(3) Ua3s7 (4) Ab549
Options :

92090687877. 1
92090687878. 2
92090687879. 3
92090687880. 4

Question Number : 70 Question Id : 92090622237 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) THP-1 (2) K562
(3) U937 (4) A549
Options :

92090687877. 1
92090687878. 2
92090687879. 3
92090687880. 4

Question Number : 71 Question Id : 92090622238 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Respiratory quotient 1s defined as

(1) MNumber of respiration per minute
(2)  Amount of energy produced as ATP during given period of time
(3) Ratio of amount of COs produced to the amount of () taken in
(4) Ratio of amount of ATP produced to the amount of Oz used
Options :
92090687881. 1
92090687882. 2

92090687883. 3
92090687884. 4

Question Number : 71 Question Id : 92090622238 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
92090687881. 1



92090687882. 2
92090687883. 3
92090687884. 4

Question Number : 72 Question Id : 92090622239 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Some of the substances move out of the peritubular capillaries and are moved into the
nephron by which process?

(1) Seecretion

(2) Absorption
(3) Reabsorption
(1) Filtration

Options :

92090687885. 1
92090687886. 2
92090687887. 3
92090687888. 4

Question Number : 72 Question Id : 92090622239 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frofaf@a 3 3 R uiear gR1 39 e TRARETER SR 3 aTeR oa & 3R i 3 9a
WTd €7

(1)  HdUl (") (2) SIEHT
(3)  YAsagimu 4) Fedea
Options :

92090687885. 1
92090687886. 2
92090687887 3
92090687888. 4

Question Number : 73 Question Id : 92090622240 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Matech Last I with Last IT :

List I List 11
{Anatomy term) {(Definition)
(A) Bone (I) A fibrous protein
{B) Collogen (II) Mature bone cell
(C) Osteocyte (I11I) Blood cell production
(D Marrow (IV) Mineralized connective tissue

(Choose the correct answer from the options given below:

(1) (A)-(IID), (B)-(II), (C)(I), (D)-(IV)

(2)  (A)-ID), (B)-AD), (C)-(IV), (D)-(IIT)

(3)  (A)-(IV), (B)-(ID). (C)-(T). (D)-(I1L)
(

(4) A)-(IV), (B)-(I), (C)-1), (D)-(I1I)

Options :

92090687889. 1
92090687890. 2
92090687891. 3
92090687892. 4

Question Number : 73 Question Id : 92090622240 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AT | B G 11 P Gy R i
gl Gt -1

EICAIREAREY (@)
(A) IRy () IWER UIEH
(B) wiciaA () gige sy e
(C) Sy (1) & IR Fafu
(D) HeAl (V) EFfSddarst Hab
9 fog 0 fowedi # 9 el 3w g

(1) (A=), B)-(), (O-(1), (D)-(IV)
(2) (A1), (B)-(1), (C)-(1V), (D)-(lH1)
(3)  (A)-0V), (B)-(11), (C)-(1), (D)-(HI)
(4) (A=), (BY-(1), (C)-(l), (D)-(li1)

Options :

92090687889. 1
92090687890. 2
92090687891. 3
92090687892. 4

Question Number : 74 Question Id : 92090622241 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(iven below are two statements ;

Statement [ ;' Apoptosis is a pro-inflammatory mode of cell death.
Statement I1: During apoptosis inflammatory substances are released which alerts

other cells in the vicinity of dying cell.

In the light of the above Statements, choose the correct answer from the options given
below :

(1) Both Statement | and Statement [T are true
(2) Both Statement I and Statement I are false
(3 Statement 1 1s true but statement 11 1s false

{4) Statement 1 is false but statement 11 is true

Options :



92090687893. 1
92090687894. 2
92090687895. 3
92090687896. 4

Question Number : 74 Question Id : 92090622241 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
EIEE JERGORIDES
HUYFT| ;. WA SIS gy & ysda-eiic s g

FYTI:  VUICIRM & SR Saa-Lie gard Slfdd 8id € off §d SIS & Todia] 89 |
30 BT F Tad B B

Ul Byl & siTelid A, A 32 M Redd # 4 wel 3w I

(1) Y| IR BYA || T e B
(2) HYA| AR FYA I A TAd &
(3) @YF | HE g, fooeg HYH 11 TTeTd §
(4) ®YF | TTed ¢, fbg YA 11 HEl B

Options :

92090687893. 1
92090687894. 2
92090687895. 3
92090687896. 4

Question Number : 75 Question Id : 92090622242 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The first Jawed vertibrates (Placoderms), arose in which period?
(1) Cambrian
(2) Ordovician
(3) Devonian
(4) Silurian

Options :



92090687897. 1
92090687898. 2
92090687899. 3
92090687900. 4

Question Number : 75 Question Id : 92090622242 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AUy §Iga HUSH| (Whler) g &ra & Iad gu:

(1) Sisma 2) sirgiafFaa
(3) edi-gH 4) R
Options :

92090687897. 1
92090687898. 2
92090687899. 3
92090687900. 4

Question Number : 76 Question Id : 92090622243 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

When phospholipid 15 added and shaken up with water, micelles may form. Which of
the following is true regarding micelles?

(1)  Tiny spheres of lipids with hydrophobie tails outwards in contact with water

(2)  Tiny spheres of lipids with hydrophilic heads outwards in contact with water

(3)  Tiny spheres of lipids with randomally arranged hydrophobic and hydrophilic
heads

(4)  Tiny spheres of lipids with hydrophic heads away from water

Options :

92090687901. 1
92090687902. 2
92090687903. 3
92090687904. 4

Question Number : 76 Question Id : 92090622243 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

HIApIae & Jd A difcde sU Raam aa e dl PR Saa gl 9edi ¢l FRd S IR &
Fgifed ® ¥ 19 W1 HYF 9L B

(1) a9 & g&H Tid oM 4@ Saarr gid g4 918 &1 SR oid & 999 H gidl 8
(2) 9% geH Tidl oo RR Saeig! 8ld §U aTer & 3fR wid & W H giar g |

(3) 9 & Y& Tl [T RR Seregl 9 siaawrd 8ld 8 ok d gefass ¥u 3 sgaflua
gId €1
(4) TEIH GEH a1 RR Fararet 811 & 3R  5idl ¥ R & 2

Options :

92090687901. 1
92090687902. 2
92090687903. 3
92090687904. 4

Question Number : 77 Question Id : 92090622244 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following 1s the genetic material in Human Immunodeficiency Virus
(HIV)?

(1) DNA
(2) RNA
(3) Chromosomes

(4) DNA and ENA hybrid molecule

Options :

92090687905. 1
92090687906. 2
92090687907. 3
92090687908. 4

Question Number : 77 Question Id : 92090622244 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AT UfoRe <g-ad famm (@ o1 &) &1 Sdiie anl ©Ries defad) &F 91 82

(1) Jwg (2) SMRUAT
(3)  SHIHINEH FURE) (4) B1TAU SR 3R T U G 3]
Options :

92090687905. 1
92090687906. 2
92090687907. 3
92090687908. 4

Question Number : 78 Question Id : 92090622245 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following states 1s known for conservation of wild citrus?

(1) Arunachal Pradesh (2) Manipur
(3) Meghalaya (4) Sikkim
Options :

92090687909. 1
92090687910. 2
92090687911. 3
92090687912. 4

Question Number : 78 Question Id : 92090622245 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Prafefra 3 @ R Wrea B ohTel Figd (@rses Rice) 3 e 3 Ry S s &2

(1)  3EUTEd UcHl (2) AR
(3) WYY 4) Tafden
Options :

92090687909. 1
92090687910. 2
92090687911. 3
92090687912. 4

Question Number : 79 Question Id : 92090622246 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Arrange the following in increasing order of land area :
(A)  Afries

(B) Europe

{(C) North and Central America

(D)  Oceania

() South America

Choose the correct answer from the options given below :

(1) A)<B)<(E)<(C)<D) (2) (A)<(C)<(B)<(E)<(A)
(3)  (B)=(D)=<(E)<(A)=<(C) (4) D) <(E)<(C)<(B)<(A)
Options :

92090687913. 1
92090687914. 2
92090687915. 3
92090687916. 4

Question Number : 79 Question Id : 92090622246 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafafad &1 4&F & RIg vH § saaiiyd DI

A, 3BT

B. M

C. IR Ud AL AR

D. Sl

E. cf&ur emfven

414 fdw 7 faweul # 9 9l IR g .

(1) A<B<E<C<D (2) A<C<B<E<A
(3) B<D<E<A<C @4 D<E<C<B<A
Options :

92090687913. 1



92090687914. 2
92090687915. 3
92090687916. 4

Question Number : 80 Question Id : 92090622247 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List I1 -

List 1 List 11
(Biosphere Reserves) (State)
(A) Agasthyvamalai (I) Assam
(B) Amarkantak (I) Odisha
(C) Manas (III) Madhya Pradesh
(D) Similipal (IV) TamilNadu

Choose the correct answer from the options given below:

(1) (A)-(IID), (B)-(IV), (C)-(II), (D)-(I)
(2)  (A)-IV), (B)-(ITD), (C)~(I), (D)-(IT)
(3) (A)-(IV), (B)-(LLI), (C)-(1L), (D)-(D)
(4)  (A)-(IID), (B)-(IV), (C)-(I), (D)-(II)

Options :

92090687917. 1
92090687918. 2
92090687919. 3
92090687920. 4

Question Number : 80 Question Id : 92090622247 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



= | g 1 & 9y GAferd S

| Tt -
(A) SFTRIHETS () SrH
(B) SHHIdhcH () sffgEn
(C) WY (1) Heaue
(D) Towediara (v) dfferg
Ara fag 7 fasedl | 9 Het IR g

(1) (A=), (B)-(V), (-1, (D)-(1)
(2)  (A)-(V), (B)-(li), (C)-(1), (D)-(11)
(3) (A=), (B)-(1n), (C)-(H), (D)-(1)
(4) (A=), (B)-(IV), (Q)-(1), (D)-(1)

Options :

92090687917. 1
92090687918. 2
92090687919. 3
92090687920. 4

Question Number : 81 Question Id : 92090622248 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Methanol, also referred as wood aleohol, was initially produced

(1)  wvia yeast derived fermentation of glucose
(2) by destructive distillation of wood
(3) by esterification of mil derived from plant source
(4) via fermentation of starch in Kernels of corn
Options :
92090687921. 1
92090687922. 2

92090687923. 3
92090687924. 4



Question Number : 81 Question Id : 92090622248 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AYATa, Sifds $TE Uchigd I HeT AIdl &, YRR # 9 ¥ 5y faftl gr1 Ianfed grar ur?

(1) TS & [BUa § s O & Areaw ¥

(2) 18 & faedwdl smaad g

(3) UG Hid ¥ I adl & 3D GRI

(4) HHS B T U H W (1) F Hvad & e

Options :

92090687921. 1
92090687922. 2
92090687923. 3
92090687924. 4

Question Number : 82 Question Id : 92090622249 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the coal types from lowest to highest rank?
{A) Brown coal
(B) Sub bituminous
{(C) Hard coal

(I  Soft coal

Choose the correct answer from the options given below :

(1)  (B), (A), (D), (C) (2) (B), (D), (A). (C)
3 (A (B) (D). ) (4) (A), (D), (B), (C)
Options :

92090687925. 1
92090687926. 2
92090687927. 3
92090687928. 4

Question Number : 82 Question Id : 92090622249 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

$OA & USRI &1 FUdH T I=dH 4 & F9 § Faieyd S
A SIS (M) HIGE

B. VSNgHAY S

C. SOR BT

D. HdaMH $Hdl

A1 fRg g 9ol § § wel IR gAY

() BADC 2 B,DAC
(3y ABDC 4 ADBC

Options :

92090687925. 1
92090687926. 2
92090687927. 3
92090687928. 4

Question Number : 83 Question Id : 92090622250 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct statements :
(A) The pH of unpolluted natural rain water is ~5.6
(B) H:50; and HNO; are predominat acids in acid rain
(C)  Acidic rainwater have pH less than 5.6
(D)  Acid rain affect monuments, buildings and soil fertility

(E)  Neutral pH of unpolluted natural rain water is 7

Choose the correct answer from the options given below :

(1) (B), (C), (D) and (E) only (2) (B), (C) and (E) only
{3) (A), (B), (C) and (D) only (4) (A), (B) and (C) only
Options :

92090687929. 1
92090687930. 2
92090687931. 3



92090687932. 4

Question Number : 83 Question Id : 92090622250 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
el YA IAT:
A. UM WHidd a9 ofd &1 pH ~5.6 B1dl &
B. H2S04 3R HNO: 377 a9 & TiE S Bid & |
C. 3% aui ofd BT pH 5.6 ¥ ®H Il B
D. 3d aui WIRS! 9yl Ha-i 3R §al Idxdl S WHIdd &l g

E 3Wd ugsfas auf ofd &1 ISRH pH 7 ST &1

1 38 7 fasedi 7 ¥ Ul fadseq 947

(1) &ddB, C, D3RE (2) HddAB, C3RE
(3) HAdAA B, C3RD 4) HAAA B3ARC
Options :

92090687929. 1
92090687930. 2
92090687931. 3
92090687932. 4

Question Number : 84 Question Id : 92090622251 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement [: London smog event was a suitable example of classical fog.

Statement I1:  Classical fog 1s characterised by high concentration of unburnt
carbon soot as well as elevated levels of atmospherie sulfur dioxide.

In the light of the above Statements, choose the most appropriate answer from the
options given below :

(1) Both Statement [ and Statement 11 are correct
(2) Both Statement I and Statement Il are incorrect
(3) Statement [ is correct but statement Il 1s incorrect

(4) Statement [ is incorrect but statement I is correct

Options :

92090687933. 1
92090687934. 2
92090687935. 3
92090687936. 4

Question Number : 84 Question Id : 92090622251 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR dsyRAME:

HUT| ;W YHBIE URHe A He H1 ST ITeW §

YA 3Ee Bled Y2 I Y50 & GY-H1Y IGHSHY b S8 HdHI5s H1 gg1
g3 TR oMeef Sy o sifanafma g1

Suded Sl & e A, 14 ol T faeedl # 9 uel 3w A

(1) YT IR FYF 1| S T B
(2)  HY | 3R B 11 ST T
(3) YA Hel B, fbg HYA 11 TTeId B
(4) @Y ITEd e, gy nade

Options :

92090687933. 1

92090687934 2

92090687935. 3
92090687936. 4



Question Number : 85 Question Id : 92090622252 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are NOT greenhouse gases?
{(A) Ozone

(B) Water vapour

(C)  Carbon monoxide

(D)  Nitrous oxide

(E) Nitrogen dioxide

Choose the correct answer from the options given below :

(1) (A), (B) and (C) only
(2) (B). (C) and (D) only
(5] (C) and (E) only

{4) (A), (B) and (C) only

Options :

92090687937. 1
92090687938. 2
92090687939. 3
92090687940. 4

Question Number : 85 Question Id : 92090622252 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fafafad 7 4 o9 divgrew e @ =12l &7

A, SfEH
B. Wddm
C. &HEAHASaEs

D. AIZcH s
E ARcSH SE3MauEs

a3 1A fowedl | ¥ wEl S g

(1) ®HadAA B3RC (2) @ddAB, C 3D
(3) HAACARE (4) HIAA B3R C
Options :

92090687937. 1
92090687938. 2
92090687939. 3
92090687940. 4

Question Number : 86 Question Id : 92090622253 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Giiven below are two statements : One is labelled as Assertion (A) and the other is
labelled as Reason (R) :

Assertion (A) :  Ozone in troposhere is referred to as bad ozone.

Reasons (R) :  Fifty percent of ozone is troposphere is emitted directly from fossil
fuel combustion and rest comes from stratosphere.

In the light of the above Statements, choose the correct answer from the options given
below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) 15 true but (R) 15 false

(4) (A) 15 false but (R) 1s true

Options :
92090687941. 1



92090687942. 2
92090687943. 3
92090687944. 4

Question Number : 86 Question Id : 92090622253 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I Py A 3R T% R WS S HYF A E:
FUFYT A - &HHST H Ul oF ard 36l &1 @ S6H & 4 8 G4 A dl 8

FRUR aiyHsd H garg Ulaerd Sfieid T dR W Siared 5449 g4 9 Sa&feid
gl & SR 2N 3Gl UHaY Had ¥ 3M1dl g1

Suda Byl & s1ad #, 1 138 713 f9wedt # 1 uel Iw g

(1) AJARREH G818 aUTR, A HI &I AR 8§

(2) ASRRIH G T R A S TS RN AL &
3) AGAE BgRIEIE

(4) AT E, fgREER

Options :

92090687941. 1
92090687942. 2
92090687943. 3
92090687944. 4

Question Number : 87 Question Id : 92090622254 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not a criteria air pollutant under National Ambient Air
Quality Standards?

(1)  Ozone (2) Carbon monoxide
(3) Carbon dioxide (4) Sulfur dioxide
Options :

92090687945. 1
92090687946. 2
92090687947. 3
92090687948. 4



Question Number : 87 Question Id : 92090622254 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AP gRa=) 9Ty Ui HFE & Siarid g U S bed a1 UghS el o7

(1) e (2) HEA A HRES
(3) e SRS 4) U SEHGES
Options :

92090687945. 1
92090687946. 2
92090687947. 3
92090687948. 4

Question Number : 88 Question Id : 92090622255 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following bacteria are involved in nitrification process in nitrogen cvcle?
(A) Pseudomonas
(B) Nitrobactor

(C) Nitrosomonas

(D) Bacillus

Choose the correct answer from the options given below :

(1) (A) and (B) only (2) (A)and (C) only
(3) (C) and (D) only (4) (B)and (C) only
Options :

92090687949. 1
92090687950. 2
92090687951. 3
92090687952. 4

Question Number : 88 Question Id : 92090622255 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AgereH 9% B A3t ufdan 7§ wnftra Saif fufrf@a A asa 3 8

D. df¥eH
= f2h 1 et § ¥ 9dl S g

(1) HaaANRTB (2) HIAARC
(3) HAACSIHRD (4) ad B3R C

Options :

92090687949. 1
92090687950. 2
92090687951. 3
92090687952. 4

Question Number : 89 Question Id : 92090622256 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Within the dissolved fraction, inorganic P (dissolved inorganie phosphorous) oecurs as

(1) Metaphosphate (2) Pyrophosphate
(3)  Orthophosphate (1) Organic Phosphate
Options :

92090687953. 1
92090687954. 2
92090687955. 3
92090687956. 4

Question Number : 89 Question Id : 92090622256 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fFaftd fim dhawm) # sipee P (Rafid spHiRe BieeRy) Ryfufea 9 7 Jufeq
gidl &

(1) HeTHIEhe (2) URABEhEE
(3) oyl wrEhe (4) HEAE B
Options :

92090687953. 1
92090687954. 2
92090687955. 3
92090687956. 4

Question Number : 90 Question Id : 92090622257 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

All forms of mercury are potent toxin. Which form of Hg is most readily absorbed and
bioaccumulated?

(1) Hg" (2) Hg*!
(3) Hg+: (4) MeHg
Options :

92090687957. 1
92090687958. 2
92090687959. 3
92090687960. 4

Question Number : 90 Question Id : 92090622257 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R (UR) & Gt ¥ Aidaamed snfay g1 € | Hg &1 &F §1 ¥4 Haliys Aedl yde
faefid iR S Gafld giar g7

(1) Hg° (2) Hg"
(3) Hg" (4) MeHg
Options :

92090687957. 1
92090687958. 2
92090687959. 3



92090687960. 4

Question Number : 91 Question Id : 92090622258 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Measure of the minerals and salts that can be dissolved in water is referred to as

(1) alkalinity (2) turbidity
(3) salinity (4) acidity
Options :

92090687961. 1
92090687962. 2
92090687963. 3
92090687964. 4

Question Number : 91 Question Id : 92090622258 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
o § fawfid e o 96 e @G 3R @aull 1 71 Sgard ¢

(1) &R (2) Sffaeral
(3) durdr (4) ST
Options :

92090687961. 1
92090687962. 2
92090687963. 3
92090687964. 4

Question Number : 92 Question Id : 92090622259 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Human ear normally hears sounds originating from the vibrating objects with a
frequency between

(1) 2 and 2000 Hz (2) 2 and 20,000 Hz
(3) 10 and 20,000 Hz (4) 20 and 20,000 Hz

Options :



92090687965. 1
92090687966. 2
92090687967. 3
92090687968. 4

Question Number : 92 Question Id : 92090622259 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

M dR W A & & Fafafaa J 3 feg erghi oy @9) ardt 3@ @l g4 82

(1) 23R 2000 Hz & s" (2) 23R 20,000 Hz & &g
(3) 10 37 20,000 Hz & &9 (4) 20 3R 20,000 Hz & &g
Options :

92090687965. 1
92090687966. 2
92090687967. 3
92090687968. 4

Question Number : 93 Question Id : 92090622260 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Measure of mass of water vapour for a given mass of dry air (in g/kg) 1s referred to as

(1)  Absoclute humidity (2) Relative humidity
(3)  Mixing ratio (4) Specific humidity
Options :

92090687969. 1
92090687970. 2
92090687971. 3
92090687972. 4

Question Number : 93 Question Id : 92090622260 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e & § 3, 5 a9 & GeaH SR Y5 a1 & GHM @1 U (g/kg H) 87

(1) U saga (2) gl s
(3) Tofsa sFua 4y fafw smgar
Options :

92090687969. 1
92090687970. 2
92090687971. 3
92090687972. 4

Question Number : 94 Question Id : 92090622261 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following zones in a river stretch will have highest biological oxidation
demand?

(1) Sewage discharge entry point (2) Sewage decomposition zone
(3) Septic zone (1) Top surface above decomposition zone
Options :

92090687973. 1
92090687974. 2
92090687975. 3
92090687976. 4

Question Number : 94 Question Id : 92090622261 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fofafad # 9 78 & 5y &3 7 Sfaw sraxiieo wi aifte gnfe
(1) difed va fageH uaw fawg
(2) HA AUged &

3) PP &=
(4) U9 &3 $ FW Pl ST Hde

Options :
92090687973. 1
92090687974. 2



92090687975. 3
92090687976. 4

Question Number : 95 Question Id : 92090622262 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One 1s labelled as Assertion (A) and the other is
labelled as Reason (R) :

Assertion (A) : Catalytic convertors are used in vehicles to reduce air pollution.

Reasons (R) : Catalytic convertors reduces particulate matter in tail end emissions
of vehicles.

In the light of the above Statements, choose the correct answer from the options given
below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) is true but (R) is false

{4) (A) 1s false but (R) 1s true

Options :

92090687977. 1
92090687978. 2
92090687979. 3
92090687980. 4

Question Number : 95 Question Id : 92090622262 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I 3Py A 3R T R THS ) HYE 28 ™ B

UBYT A : IARD! URTAD| &1 T A8 H a1 UgHUI B &H B & (ol faar
EIGIE

HRUIR  : JaR®! uRads aredl & siaifds Ide | e uerd &1 &1 & g
Iudad Syl & oficlie #, i 732 1A fqwed! § € wel 3o g

(1) AR RGH Ul € 9yl R, A T U&l RS &

(2) A SRR ¥l g, =g R, A B Gl A= el ©
3) AUSE fPgrI@AR

(4) AT Pgrugle

Options :

92090687977. 1
92090687978. 2
92090687979. 3
92090687980. 4

Question Number : 96 Question Id : 92090622263 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
During municipal sewage treatment, biosolids are produced as a by-product of
{1) Primary treatment only

(2)  Biological (activated sludge) treatment only
(3)  Chemical (physicochemical precipitation of suspended solids) treatment only

(4)  All three, primary, biological and chemical treatments

Options :

92090687981. 1
92090687982. 2
92090687983. 3
92090687984. 4

Question Number : 96 Question Id : 92090622263 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



wRRd aifgard My & SH SEETasd Fafiiad & uldrg- 3 3ad g &

(1) Sad WYHs MeA I

(2) Pad ulids [@ibAdeds) My I

(3) had IEAFE (FefEd S & Mfae-IHmme R Meq
4)  wrufl®, Sifde SR e, vt i+l giea 4

Options :

92090687981. 1
92090687982. 2
92090687983. 3
92090687984. 4

Question Number : 97 Question Id : 92090622264 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT :

List I List 11
(Instrumentation/Technique) (Useful for)

(A) Hybridization (I)'  Purification of biomolecules

(B) Confocal scanning microscope (IT) Separation of proteins

(C) Western Blotting (IIT) Three-dimensional image

(D) Chromatography (IV) Location of complementary DNA

Choose the correct answer from the options given below:

(1) (A)-(I1L), (B)-(IV), (C)-(I), (D)-(1I)
(2)  (A)-(IV), (B)-(I1I), (C)-(II), (D)-(T)
(3)  (A)-(ID), (B)-(IV), (C)-(D), (D)-(I11)
(4)  (A)-(ID), (B)-(1), (C)-(IV), (D)-(I1I)

Options :

92090687985. 1
92090687986. 2
92090687987. 3
92090687988. 4

Question Number : 97 Question Id : 92090622264 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

AT | B G 11 D Gy GRid Pife:

gdl-| ([@iFsl/aEf) T -1 (39
(A) HH () g U BT YSHI0
(B) A whi gerasff (i) e qeeRuy
(C) e sdlfed (i Bfddig Ry
(D) THIFETHTSI (V) TR S U9 U Dt sarufa
#1457 fasedl 1 9 wdl S g

(1) (A)-(n), (B)-(V), (C)-(1), (D)-(I1)
(2)  (A)-(V), B)-(l), (O)-(1), (D)-()
(3) (A=), (B)-( IV), (O)-(1), (D)-(IIN)
(4) (A=), (B)-(1), (C)-(1V), (D)-(li1)

Options :

92090687985. 1
92090687986. 2
92090687987. 3
92090687988. 4

Question Number : 98 Question Id : 92090622265 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(iven

below are two statements:

Statement [ : Accuracy is the degree of agreement between the measured value and

the accepted true value of the given parameter.

Statement [l :  Determinate error are random in nature and oceur when something

In the
helow:

(1)
(2)
(3)
(4)

went wrong during the measurement.

light of the above Statements, choose the correct answer from the options given

Both Statement [ and Statement Il are true
Both Statement | and Statement Il are false
Statement [ is true but statement 11 is false

Statement [ is false but statement Il 1s true

Options :

92090687989. 1
92090687990. 2
92090687991. 3
92090687992. 4

Question Number : 98 Question Id : 92090622265 Question Type : MCQ Option Shuffling : No Is

Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Gk

PUA |

DU ||

FYF G4 T &

- uRgear wiftd 7F SR A 18 ured & Wier ardfad 3 & i gEiia i
Har gl

. FuRe 3 vafua: e il € 9y 98 99 9fed kil ¢ oF HIU9 & SRF $8
TTeld 81 Sl g

Sl Y & i ¥, 19 23 1 fawedl 7 9 ud SR g

(1)
(2)
(3)
(4)

Options :

HUF | IR Y | SHT T B
HUF | SR YA || SFI TTedd ©
FYF | 8§, fobg U 11 TTaa B
HU | 7T §, [ Sy 1 9di §



92090687989. 1
92090687990. 2
92090687991. 3
92090687992. 4

Question Number : 99 Question Id : 92090622266 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the incorrect statement about Atomic absorption spectrometer:
(1) It requires hollow cathode lamp

(2) It follows Beer-Lambert law
(3 It is based on absorption of monochromatic beam of light by atoms

(4) It requires only coloured solution for analysis

Options :

92090687993. 1
92090687994. 2
92090687995. 3
92090687996. 4

Question Number : 99 Question Id : 92090622266 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WRHITGS ST WaeHA & e 7 3y $y &1 9T

(1) U EREe Ul 9 B HawEd el

(2) U digR-arad g &7 SR &l §

(3) g ULl §RT UHIY &1 Ueh quif fH=01 & S0l R S1end 8l &
(4) 39U Haq [Nl §q i faeas @ snawadar gl ¢

Options :

92090687993. 1
92090687994. 2
92090687995. 3
92090687996. 4

Question Number : 100 Question Id : 92090622267 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Average salinmity of sea water 15

(1) ~0.035% (2) ~0.35%
(3) ~3.5% (4) ~35%
Options :

92090687997. 1
92090687998. 2
92090687999. 3
92090688000. 4

Question Number : 100 Question Id : 92090622267 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y5 ofd @I S ¥d daurdl gl &:

(1)  ~0.035% (2) ~035%
3) ~35% 4) ~35%
Options :

92090687997. 1
92090687998. 2
92090687999. 3
92090688000. 4



